START

BasePrice(Expert Input)

First order:

set Buy Stop on the

SET SL Parameters:
SL: 3000

(Expert input)

Trail Stop: YES or NO

(Expert input)

Trail Stop points (TR): 3000

(Expert input)

SET SL Parameters:
SL: 3000

(Expert input)

Trail Stop: YES or NO
(Expert input)

Trail Stop points (TR): 3000

(Expert input)

TP: 7000

SET TP Parameters:

(Expert input)

'

SET Sell Stop order

On (BasePrice — Step )

(Expert Input)

SET TP Parameters:
TP: 7000

(Expert input)




Step 2: Place second Buy stop and second sell stop

(Repeat this step to reach N= Number of pending
orders)

Set Second sell stop on
Set second buy stop on

. . First sell stop price- order Gap
First Buy stop price + OrderGap

A

A

SET SL Parameters: SET TP Parameters:

SL: 3000 TP: 7000

(Expert input) (Expert input)

Trail Stop: YES or NO
(Expert input)

Trail Stop points (TR):3000

(Expert input)




Conditions:
1_

Modify Sell-Stop Orders:

If First Sell stop SL got
moved (TRAILED), then

accordingly. And the

(All orders to be moved

equal to trailing stop
points)

modify First buy stop order

second and more buy stop
orders should be modified.

Modify Buy-Stop orders:

If First Buy stop SL got
moved (TRAILED), then
modify First Sell stop order
accordingly. And the
second and more sell stop
orders should be modified.
(All orders to be moved
equal to trailing stop
points)

2- If the order get closed by hitting SL, set a new pending order with STEP=1000 Points

(Difference between Buy-Stop1 and Sell-stop 1 should be equal to Step=1000 Points (Expert

Input))

3-1itis required to be able to run the expert on all currency pairs, Oil, Gold, etc with different

digits.

Expert Inputs:

Volume 0.1 Lot
BasePrice 1900

Step 10000 Points
Order Gap 5000 Points
N (Number of Orders) 5

Trailing Stop Yes/No

TR (Trailing Step) 3000

SL (If 0 Means no SL) 3000

TP (IF 0 means no TP) 7000




STEP 1: Set Buy-Stop on BasePrice|

Step 2= set Sell-Stop on (Base Price - Step)

Buy-Stop BasePrice
Step = 10000 Points (Expert Input)

Sell Stop




STEP 3: Set SL and TP (Expert Input)

Buy-TP

Buy-Stop BasePrice

SELL SL

Sell Stop

SELL TP

STEP 4 SET (N) MORE PENDING ORDERS WITH (SL) AND (TP)
Buy-Stop
Buy-Stop 4
Buy-Stop 3
Buy-Stop 2
Buv-Stop1  ORDER GAP= 5000 POINTS
BasePrice

ORDER GAP=5000 POINTS (EXPERT INPUT) ~ Sell Stop 1
Sell Stop 2
Sell Stop 3
Sell Stop 4
Sell Stop 9




STEP 5 : Trail SL and Modify Opposite orders accordignly

Buy-Stop 5
Buy-Stop 4
Buy-Stop 3
Buy-Stop 2

/ Buy
7

__/Buy-SL Trailed BasePrice

Sell Stop 1
Sell Stop 2
Sell Stop 3

Sell Stop 4

Sell Stop 5
First Pending is activated and is in TR= 3000 Points profit

Then SL for this order will be moved towards the profit by TR= 3000 Points

Also all the opposite orders will be moved towards the current order by TR=3000 Points
(Their SL and TP will be modified accordingly)

e :

18 Aug 2020 9 5ep 2020 10ct 2020

20 May 2020 11 un 2020 27 1200

STEP 6 : If the order get closed by hitting SL
set a new order with Step=1000 Points

Difference between the opposite order and the new order

Buy-Stop 5
Buy-Stop 4
Buy-Stop 3
Buy-Stop 2

Buy /‘\

Check this value and
reset the Buy Stop prices

Sell Stop 1
Sell Stop 2
Sell Stop 3
Sell Stop 4

Sell Stop 5
Difference between Buy-Stop1 and Sell-Stop1 should be equal to
Step= 1000 Points (Expert Input)

Therefore, if the buy stop 1 got Closed in SL, then all other
buy-stop orders should be moved down accordingly base on the new buy stop price

Hi




